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UNIT 1. THE USE OF URBAN SPACE

1.1 The Use of urban space
PRE —TEXT EXERCISES

I. Mind the pronunciation of the following words:

1 urban MiCBKHit

2 distribution PO3IOIiT

3 employment 3alHATICTD

4 customer MOKYTIETb, KITIEHT
5 isolation BiJIOKpEMITCHHSI

6 availability HasIBHICTh

7 accessibility JIOCTYIIHICTb

8 facility 3acio

IL. Learn the following word combinations:

to take place — BinOyBatucs, TpAIATHCS

urbanized areas — micbka TepuTOpis

rural areas — cinbCcbki pailoHu

to be sparsely populated — martu pinke HaceneHms

to observe a tendency — cnocrepiratu TeHIEHIIIFO
developed countries — po3BuHyTI KpaiHu

to show declining population — moka3yBaTu 3HIKEHHS POCTY HACEICHHSI
land cost — BapricTs 3emui

labour force — po6oua cuna

stage of development — ctymias po3BUTKY

low housing density — Hu3Ka NIIBHICTE XKHUTIIA

wide road network — mupoka mepesxa gopir

higher cost per house — Brcoka BapTicTh *KuTiIa
attractive living conditions — mpuBaGa1Bi YMOBH JKUTTSI
parking facilities — 3aco6u nmapkyBaHHs

IIL. Translate the following international words: urbanization, service, tendency,
population, process, concentration, isolation, factor, infrastructure.

IV. Give the initial form of the following words: distribution, relatively, sparsely,
developed, employment, availability, attractive.
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THE USE OF URBAN SPACE

In many countries all over the world urbanization is taking place. The urban
population is increasing.

The distribution between urbanized and rural areas can take different forms. In
France and Hungary about 20% of the population live in the metropolitan area
around the capital, but the rest of the country is relatively sparsely populated. In
Australia, New Zealand and Spain also the cities are few in number, but large in
size.

On the other hand, in Germany and U.K. the population is spread more evenly
throughout the whole country. That’s why interurban relations are more important
here than in countries with a single metropolitan area. One tendency can be
observed in all countries: the process of suburbanization. Cities grow with low
density suburbs on the outskirts. In all developed countries the city centers show
declining population and a concentration of employment in the service sector.

The process of urban development is characterized by an isolation of urban
functions: living, working, shopping, etc.

The process of suburbanization takes place in the countries which are different
in the stage of development and in their government policy.

The availability of the private car and wide road network are major factors in
the development of new residential areas with low housing density. Lower densities
is generally characterized by higher cost per house for the infrastructure but offer
more attractive living conditions. Shops are concentrated in the places with excellent
car accessibility and parking facilities.

TEXT — BASED ASSIGNMENTS

I. Choose Ukrainian equivalents:

1. rural a) CUIbCHKHH 0) MichKuiA B) 3aMiChKHH

2. distribution &) 3aci6 6) posmozin B) CKYITYCHHS
3. urban a) CUIbCHKHH 0) ripcekuii B) MiCBKH

4. sparse a) ryctuit 0) ToHKHMI B) pinkuit

5. to develop a) BimcroroBaTu 0) po3BuBaTH B) MOCMIIIATH



6. employment  a) 3aiiusaTicts 0) 3aTpuMKa B) 06e3poGiTTs

7. density a) TOBILIKHA 0) IIiIBHICTE B) IIIMPHHA

8. availability a) BimcyTHICTH 6) mpuuMHa B) HasBHICTh
9. attractive ) IPUMITHUHA 0) npuBaONIMBHIA  B) TapHUHA
10. condition a) yMoBa 0) yrona B) YTPUMaHHS

II. Translate into English: mineHicTs, OKpaiHa, MiCBKHU#, BIIHOCHHH, BaXKIHBU,
PO3BUHYTHH, HACENeHHs, 3alHATICTh, OOCIYrOBYBaHHs, BapTiCTh, IOKYIIEIb,
BiJIOKPEMIICHHSI, HAsIBHICTh, 00CTaBUHH, JOCTYIIHICTb.

III. Match words from columns A and B to make word combinations:

A B
1. parking a) conditions
2. urbanized b) countries
3. developed c) car
4. labour d) facilities
5. interurban e) network
6. service f) force
7. private g) sector
8. government h) relations
9. living i) policy
10.road j) area

IV. Insert appropriate prepositions where necessary:

1. The distribution... urbanized and rural areas can take different forms. 2.
Interurban relations are more important here than in countries ... a single
metropolitan area. 3. The process of urban development is characterized ... an
isolation of urban functions. 4. Cities grow ... low density suburbs on the outskirts.
5. The population is spread more evenly ... the whole country.

V. Complete the following sentences:

1. In France and Hungary about 20% of the population live in....2. That’s why
interurban relations are .... 3. In all developed countries the city centers show.... 4.
The process of urban development is characterized by.... 5. The process of
suburbanization takes place in.... 6. The availability of private cars and wide road



network are.... 7. Lower density is characterized by.... 8. Shops are concentrated
in....

VI. Form sentences using the following words:

1. The, urban, increasing, is, population.

2. Rest, sparsely, the, is, country, the, of, populated.
3. The, spread, is, more, population, evenly.

4. Can, tendency, be, one, in, countries, all, observed.
5. Few, in, cities, number, the, are, size, in, large, but.

VII. Answer the following questions:

1. What is taking place in many countries?

2. What is the common feature between the processes of urbanization in France and
Hungary?

3. How can we characterize the process of urbanization in Germany and U.K.?

4. What tendency can be observed in all countries?

5. What do the city centers show in all developed countries?

6. How is the process of urban development characterized by?

7. What are the major factors in the development of new residential areas with low
housing density?

VIIL Translate into English:

1. Posmonin mixk ypOaHi30BaHUMH Ta CLTBCHKAMHU PaiOHAMHU MOXKE MPHAMATH Pi3Hi
¢dopmu. 2. V HimeydnHi HaceJICHHS PO3MOMUISETHCS OUIBII PIBHOMIPHO MO BCii
KkpaiHi. 3. Y Bcix kpaiHax crioctepiraerscsi Ta cama TeHjaeHuis. 4. [Iporec Micbkoro
PO3BUTKY XapaKTEepPH3YEThCSA I130Jili€0 ypOaHizoBaHUX (GyHKHiA. 5. HasBHicTh
MIPUBATHHUX JIETKOBUX aBTOMOOUTIB Ta IMHUPOKA MEpeka JOpir — I OCHOBHI (hakTopH
PO3BUTKY HOBHX YKHUTJIOBHX PaliOHIB.

IX. Write down the main idea of the text and key words.

X. Make up a plan of the text, prepare a short report on the text.



1.2 Migration and public transport

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1 leisure O3B

2  frequency 4acToTa

3 noise rym

4 radial panianbHUi

5  orientation Opi€HTYBaHHSI
6  commuter Hacaxup

7 phenomenon SIBUIIIC

8  reverse 3BOPOTHHI

9 adequate BiAIIOBiAHUH
10 periphery nepudepis

II. Word combinations to remember:

to increase average trip length — 36inbIyBaTH CepeiHIO JOBKUHY TTO0POXKI
to become more attractive — craBatu 6isbI TPUBAGIUBIM
waiting time — gac ouikyBaHHsI

to cover a longer distance — mpoxoauTu GinbIIy BiJCTaHb
public transport — mickkuii TpaHCOpT

extra time — mogaTkoBwHii Yac

to meet needs — BianoBinaTu noTpedam

peaking phenomenon — siBuIle TOAMHY ITiK

to move out of the city center — Buixkatu i3 neHTpa Micta
a ring road — kinbleBa gopora

to increase car usage — 301IbLIyBaTH BUKOPUCTAHHS MAILIHH
adequate service — BignoBigHe 00CITyroByBaHHs

economic growth — ekoHOMiuHHiT picT

high standard of living — Bucokwuit piBeHb KHUTTS

I1I. State the part of speech of the following words:
urbanized, lower, travel, attractive, move, these, which, towards, suburb, operating.

IV. Translate words with the same root:
1. to develop — developed — development
2. urban — urbanized — urbanization



3. travel — traveller — travelling

MIGRATION AND PUBLIC TRANSPORT

The growth of the urbanized area together with the segregation of
residential, business, shopping and leisure area has increased the average trip
length. Because of lower population densities, the level of service of public
transport declines to the fewer passengers, the lower service frequencies and
longer waiting times. So car travel becomes more attractive.

The migration of inhabitants to the outer parts of a city can be considered as
the first stage of urban development. The second stage takes place when
business also moves out. These two stages cause the major shifts in
transportation.

Firstly there is a massive radial passenger movement towards the city center.
Even if the traveling times by car and by public transport are similar, the private
car is more attractive when a longer distance must be covered. People should
choose between extra time spent in public transport and the higher cost of car
travel. The traffic volumes are characterized by congestion, pollution, noise and
parking problems.

Public transport meets only the needs for radial movement, because nearly
all networks were built with radial orientation. Commuting is the main cause of
the peaking phenomenon, which increase the operating cost of public transport.

When business moves out of the city center, a reverse flow of commuters is
generated. Besides, the movements between the suburbs increase. But being
radially oriented, public transport offers no adequate service for these needs. So
car usage increases because of traffic in the periphery, on ring roads.

The increasing use of cars takes place not only in countries with economic
growth and high standards of living but also in countries with economic
problems and deteriorating standards of living.

TEXT — BASED ASSIGNMENTS
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I. Form nouns of the verbs by means of the following suffixes: - tion, - ion, -
ment, -ation: to migrate, to transport, to develop, to move, to operate, to deteriorate,
to urbanize, to compete.

II. Give English equivalents: »xwrtnoBuii paiioH, MO3BULIAL, IIIIBHICTH, Yac
OUiKYBaHHS, MEPEMIICHHS, MACAKUPCHKUA pyX, MICBKHIA TPaHCIOPT, BHUCOKA
BapTicTh, 3a0pyAHEHHs, TOJIOBHA NpPUYMHA, MOTpeOM, KijblieBa Jopora,
BiJINIOBITHHA, PIBEHb JKUTTS.

II1. Match Ukrainian and English equivalents:

A B
1. segregation a) 00’eM
2. decline b) memkanens
3. service C) MOTIK
4. migration d) mepexa
5. inhabitant ) notpeba
6. shift f) BimokpemueHHst
7. volume 0) oOciyroByBaHHs
8. network h) nepeminienns
9. flow i) 3MeHITyBaTHCSI
10. need j) mepecenenus

IV. Match words from columns A and B to make word combinations:

A B
1. leisure a) cost
2. average b) growth
3. public c) time
4. waiting d) usage
5. passenger e) volume
6. extra f) time
7. higher g) movement
8. traffic h) area
9. car i) transport
10. economic j) length
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V. Find out synonymes:

A B
1. decline a) stream
2. growth b) level
3. trip c) select
4. population d) application
5. stage €) propose
6. choose f) travel
7. flow g) period
8. offer h) decrease
9. standard i) inhabitants
10. use J) rise

V1. Complete the following sentences:

1. So car travel becomes.... 2. The second stage takes place.... 3. Firstly there is....
4. People should choose between.... 5. The traffic volume is characterized by.... 6.
Public transport meets.... 7. When business moves out of the city center.... 8. So car
usage increases.... 9. The increasing use of cars takes place.... 10. These two stages
cause....

VII. Answer the following questions:

1. What do lower population densities cause? 2. What two stages of urban
development do you know? 3. What does the word “commuter’ mean? 4. What
choice should people of modern cities make? 5. What are the negative
characteristics of great traffic volumes? 6. What does public transport meet? 7.
Where does the increasing use of cars take place?

VIII. Translate into English:

1 IlepecyBanHs Ha aBTOMOOiNi crae Oimpm mpuBabmmBuM. 2. Ilepma cramis
MICBKOTO PO3BUTKY — II€ MEPEMIIIeHHs] MEIIKAHIiB MicTa 3a Horo mexi. 3. O6csru
PYXy XapakTepH3YIOTbCsS 3aTOpaMH, 3a0pyIHEHHSIM, LIYMOM Ta MpobjeMamu
napkyBaHHsA. 4. MICbKMH TpaHCIOPT BIANOBiJa€ TUIBKK MOTpedaM pajialbHOTO
pyxy. 5. BuxopucraHHs aBTOMOOUIB 30UIBIIyEThCS 4YEpe3 PyX IO KUIbIIEBUM
Joporam.

IX. Discuss how migration affects public transport.
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X. Prepare a short report on the text.

UNIT 2. URBAN TRANSPORTATION

2.1. Urban transportation in different countries

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1  observe crocTepiratu

2 minor HE3HAYHUH

3 abundant Oararuii

4 competition KOHKYPEHIIist

5 influence BILTUB

6  share YacTHHA

7 recent OCTaHHIH

8  opinion JTyMKa

9 split PO3IIETIICHHS

10 capacity TPOIYCKHA 3/[ATHICTh

I1. Word combinations to remember:

to leave city center in decline — 3anumaru ueHTp MicTa B 3aHeNa i
to play a minor role — BinirpaBati He3HAYHY POITH

abundant resources — HagHIIKOBI pecypcu

heavy competition — cuibHa KOHKYpEHITis

poor infrastructure — morana indpactpykrypa

to cause great problems — cripuummsTH BeHKi IPOOIEME
socio-economic conditions — comianbHO-eKOHOMIUHI YMOBH
to change the way of life — 3miHrOBaTH crIOCIO KUTTS

modal split of transport — cyyacHe po3LIeIUICHHs TPaHCTIOPTY
traffic accident rate — piensb aBapiit

to construct roads — OyayBaTtu 1OpOru

maximum capacity — MakcuMasbHa IPOMYCKHA 3[aTHICTh
public opinion — cycminbHa gymKa
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to focus on the quality of life — cdoxycyBaTucst Ha croco6i KUTTS

III. Translate the following international words: transportation, process, system,
investment, sector, infrastructure, problem, service, economy, role, period.

IV. While reading and translating the text keep in mind meanings of the
following words:

observe — 1. cnocrepiraty 2. BECTH HAYKOBI CIIOCTEPEIKCHHSI 3. IPUMIYaTH.
competition — 1. 3MarauHs 2. KOHKYPEHILst 3. KOHKYPC

volume— 1. ToM, kaura 2. 06’eM, KiIbKICTh 3. cuia

URBAN TRANSPORTATION IN DIFFERENT COUNTRIES

A process of migration of the population from rural to urbanized areas is
observed in many countries. In addition suburbanization is taking place leaving city
centers in decline and public transport is only playing a minor role in the
transportation of people. Low density suburbs and segregation of urban functions
lead to an increase in the use of private cars.

The countries can be divided into four groups:

- Western European countries suburbanized: public transport system has
declined for decades (abundant resources but heavy competition for
investments).

- Other industrialized countries (USA, Canada, Australia, Japan): car-
oriented society; public transport has never played a major role, more
influence from private sector and less from the public ones.

- Countries in transition (Eastern Europe, newly industrialized countries):
highly urbanized, poor infrastructure, high share of public transport, little
resources, transport competes with other short-term needs.

- Developing countries: trying to catch up on all fronts, resources for all
kinds of basic needs are lacking.

European countries have particular characteristics:

- the typical city pattern has a dense, pre-war, multifunctional center
surrounded by large, single function complexes and high rise housing
districts, constructed in the 60°s and 70’s.

- This policy caused an unexpected travel demand increase but the increase
volume of traffic on the transport network has not taken place together with
the necessary infrastructure investment.
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- The recent increase in private passenger car traffic has caused great
problems with parking in city centers. In smaller towns these problems are
stronger because of the inadequate public transport services.

- The new socio-economic conditions have changed the way of life and the
modal split of transport, the levels of car ownership are growing rapidly,
the economy is stagnating, and traffic accident rates are growing.

- After a period when it was politically necessary to build as many houses as
possible, construct roads with he maximum capacity, public opinion has
begun to focus on the quality of life and environmental protection.

TEXT — BASED ASSIGNMENTS

I. Choose English equivalents:

1. nepeceneHus a) migration b) transportation ¢) addition

2. 3aHemnasn a) decrease b) increase ¢) decline

3. mispHICTH a) width b) density c) length

4. KOHKYpPEHIIis a) competition b) production c) population
5. BILIMB a) income b) influence c) quality

6. mpuBaTHUI a) public b) parking C) private

7. motpeba a) need b) demand C) wish

8. obciyroByBaHHsS @) Security b) supply C) service

9. BOJIOIIHHS a) property b) ownership C) opinion
10. 3narHicTh a) capacity b) volume c) ability

II. Translate into Ukrainian: rural, segregation, decade, heavy competition,
society, private sector, transition, short-term needs, catch up, housing districts,
unexpected, daily trips, parking problems, inadequate.

III. Match words from columns A and B to make word combinations:

A B
1. private a) rates
2. abundant b) opinion
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3. heavy C) capacity

4. poor d) conditions

5. developing e) trips

6. daily f) cars

7. economic g) competition
8. accident h) infrastructure
9. maximum i) countries
10.public j) resources

IV. Find out synonyms:

A B
1. rural a) travel
2. observe b) view
3. influence c) fast
4, characteristic d) mode
5. necessary e) build
6. trip f) impact
7. way g) essential
8. rapidly h) country
9. construct i) property
10.opinion j) watch

V. Decide whether the statements are true or not. Correct the wrong ones:

1. A process of migration of the population from rural to urbanized areas is observed
in many countries.

2. High density suburbs and segregation of urban functions lead to an increase in the
use of private cars.

3. The countries can be divided into five groups.

4. The recent increase in private passenger car traffic has caused great problems
with parking in city centers.

5. The levels of car ownership are not growing.

V1. Complete the following sentences:
1. Low density suburbs and segregation of urban functions lead to....2. This policy
caused an unexpected travel demand increase but.... 3. In smaller towns these
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problems are stronger because of .... 4. The new socio-economic conditions have
changed.... 5. The recent increase in private passenger car traffic has caused .... 6.
Traffic accident rates are.... 7. Public opinion has begun to focus on.... 8. The
countries can be divided into....9. European countries have.... 10. Until the 1970’s
about 80-90% of non-walking daily trips were...

VII. Answer the following questions:

1. What leads to an increase in the use of private cars?

2. What groups can the countries be divided into?

3. What characteristics have European countries?

4. What are the negative aspects of the increased volume of the transportation
network?

5. What characteristics of the European countries can be applied for Ukraine?

6. What have changed the way of life and the modal split of transport?

7. What has public opinion begun to focus on?

VIIL. Translate into English:

1. IMpouec mirparii HaceleHHs 13 CUTBCHKHX PaHOHIB y MIChKi CIIOCTEpIraeThcs B
OarathboX KpaiHax. 2. Hu3pka LIUIbHICTH HACENEHHS B MPUrOpOJiaX Ta Cerperamis
MICBKUX (YHKIIIH TPUBOIATH 1O 301IBIICHHS JETKOBUX aBTOMOOLUTIB. 3. HenapHiii
pICT pyXy JETKOBHX aBTOMOOLTIB BHKJIHKAB BEIUKI MpOOJIEMH 3 MapKyBaHHAM Yy
neHTpi Micta.4. HoBi eKOHOMIYHI YMOBH 3MIHIIJIM CIIOCIO JKUTTS IIFOJCH. 5.
CycrinpHa IyMKa TNOdYaja 30CEpe/KyBaTH Cs Ha SKOCTI JKUTTS W mpobiemax
3aXHCTY HAaBKOJMIIHBOTO CEPEIOBHIIIA.

IX. Speak about:
- countires division
- particular characteristics of the European countries

X. Make up a plan of the text; prepare a short report on the text.

UNIT 3. TRANSPORTATION PLANNING
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3.1. Transportation planning

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1. | congestion 3aTOp

2. | facilitate CIIPUATH
3. | politician MTOJIITHK
4. | priority MPIOPUTET
5. subsidization cyocuis
6. cycle LUK

7. path JIOPIXKKa
8. | pedestrian ITIIOX1]
9. initiative iHinaTuBa
10. | authority BiIaa

I1. Word combinations to remember:

travel demand — notpe6a B nepecyBanHi

to make attempts — poGuru cripoGu

to gather results — 36upartu pesynbTati

high capacity roads — moporu 3 BUCOKOIO MOTYKHICTEO

delivery of freight — nocraska BanTaxy

to establish parking restrictions — ycranoBntoBaTi 0OMEKEHHS B TApKyBaHHI
to introduce speed limits — BrpoBamKyBaTH OOMEKEHHS IIBUAKOCTI

to give the cycle traffic priority — qaBatu mpiopuTeT pyxy BeJIOCUIIEIB
public initiatives — rpomasceki iHiliaTHBH

local authorities — micbka Bnaza

to establish pedestrian areas — BpoBaKyBaTH MilIOXiTHI 30HH

III. Translate the following international words: problem, transport, plan, park,
limit, system, control, information, initiative, national, region.

IV. Translate words with the same root:
to transport — transporting — transportation
to plan — planning — planner

to develop — developer — development
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TRANSPORT PLANNING

The problems of congestion are in most countries solved by improvements of the
transportation system in order to facilitate the increase in travel demand. The
approach in which land use planning is regarded as means to influence on travel
demand has just started off.

In some, mostly western European countries, the first attempts have been made
and some first results have been gathered. On other countries the planners are
working hard to make the public and the politicians aware of the problems and the
necessity of solving them.

Nearly all countries state a wide range of actions both in urban planning and
transport planning.

The main efforts are:

locating new developments within the existing urban areas instead of
extending the urban area;

reinforcing the city centers;

recentralizing or creating smaller centers in the suburbs in places with a
very efficient public transport;

establishing high-capacity roads around cities or city centers;

restricting car access to sensitive areas;

making special efforts for the delivery of freight ;

establishing parking restrictions;

introducing traffic and speed limits;

making or extending strong public transport systems(railways, light rail) ;
giving the buses priority;

making better use of the new technology, control and information systems;
improving the economic efficiency of public transport systems either by
rationalization or subsidization;

giving the cycle traffic priority (separate paths, tracks along roads) ;
establishing pedestrian areas and giving the pedestrians priority where
needed;

The efforts should be made in every administrative level and include main public
initiatives.

Both national, regional and local authorities should take part in the process. Each
of them should know their obligations and a high level of co-operation should be

present.

TEXT — BASED ASSIGNMENTS
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I. Choose English equivalents:

1
2
3
4
5
6.
7
8
9
1

. BUpIIITYBaTH

. YAOCKOHAJICHHS
. TIXIT

. cpoba

. HEOOXIgHICTE
JOCTYTI

. IOCTaBKa

. mimoxiz

. 000B’ 130K

0. Bmaga

a) to solve
a) development
a) attack
a) attempt
a) nobility
a) ability
a) delivery
a) vehicle
a) determination
a) authority

b) to stand

b) improvement
b) effort

b) impact

b) mobility

b) access

b) destiny

b) pedestrian
b) right

b) author

c) to meet

c) decision

c) approach
c) assist

C) necessity
C) attain

c) destruction
C) passenger
c) obligation
¢) autonomy

I1. Translate into Ukrainian:

to improve, congestion, to facilitate, to regard, politician, a wide range, efforts,
existing areas, car access, parking restrictions, traffic limits, track, to need,
administrative level, public initiatives, obligation, regional, co-operation.

I11. Give

a) synonyms of the following words: to regard, jam, hard, , to simplify, safe,
to settle.

b) antonyms of the following words: low, to avoid, bad, safe, modern.

IV. Match words from columns A and B to make word combinations:

A B
1. to solve a) areas
2. to make b) limits
3. to gather C) priority
4. high-capacity d) paths
5. car e) restrictions
6. speed f) problems
7. parking g) roads
8. to give h) attempts
9. separate i) access
10.pedestrian j) results
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V. Complete the following sentences:

1. The problems of congestion are solved by.... 2. The approach in which land use
planning is regarded as .... 3. Nearly all the countries state a wide range of action
both in.... 4. In other countries the planners are working hard to .... 5. In western
European countries the first attempts .... 6. The main efforts are.... 7. The efforts
should be made in.... 8. National, regional and local authorities should .... 9. Each
of them should ....

V1. Decide whether the statements are true or not. Correct the wrong ones:

1. The problems of congestion are not being solved in the most countries.

2. The land use planning is regarded as means to influence on travel demand.

3. In some countries the first attempts have been made.

4. One of the main efforts is locating of new developments out of the existing urban
areas.

5. In some countries the planners are working hard to make public aware of the
problems.

6. The car access to sensitive areas is one of the actions of transport planning.

7. Nearly all the countries state a wide range of action both in urban planning and
transport planning.

8. The priority should be given to private cars.

9. The efforts should be made at every administrative level.

10. Only local authorities should take part in the process of the congestion
problem’s solving.

VII. Answer the following question:

1. How are the problems of congestion solved in the most countries?

2. How is the land use planning regarded?

3. What attempts have been made in many countries?

4. What are the planners working hard at?

5. What is the most important action among those given in the text?

6. What are the two ways of improving the economic efficiency of public transport?
7. What efforts can be used within Donetsk urban area in present situation?

VIII. Translate into English:

1. IIpobnema TpaHCHOPTHHX IMPOOOK y OLIBMIOCTI KpaiH BHUPILIYETHCS IUIIXOM
MOJIMIIEHHS TPAaHCIIOPTHOI cUcTeMHU. 2. Y 0arathoxX KpaiHax BixKe 3po0OJieHi mepii
cnpoOu BUpIlIEHHS NPoOJieM, MOB’sA3aHUX 3 TpaHcHopToM. 3. Maibxke yci kpaiuu
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BXKHMBAIOTH 3aXO/IB I0JI0 TUNIAaHYBaHHS MicTa. 4. BBeIeHHS MIBUKICHIX OOMEXKEHb —
cepel 3yCIIb 010 BUPIMICHHS Ipo0i1eM IpoOoK Y MICTi.

IX. Speak about:
- problems of congestion
- the main efforts of congestion problems’ solving

X. Make up a plan of the text; prepare a short report on the text.

3.2. Legislation on urban and transport planning

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1. | partial YACTKOBHH

2. | foggy TyMaHHHA

3. | investigation JIOCITi JDKEHHSI

4. | guide NPOBIJIHUHN MPUHINTI
5. | serious BaXKJIMBHI

6. | alternative aITbTepHATHBHUIN

7. | bypass o0xijHa Jopora

8. | toll MUTO

9. | quantity KiJIBKiCTh

10. | media 3acobu iHdopmarrii

II. Word combinations to remember:

traffic accidents investigation — gocipkerus aBapiit

foggy weather — rymanHa norozaa

road construction — nuisxoBe OyiBHHIITBO

protection of green areas — 3axuct npupoau

alternative transport modes — anbTepHaTHBHI TPAaHCIIOPTHI 3ac00U

urban toll- micbke MuTO

to reduce the influence on the environment — 3mMeHIyBaTH BIUIMB Ha JOBKiILISA
quantity of parking facilities — xinekicTb 3ac00iB ITapKyBaHHS
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use of bicycles — pxxuBaHHs BenocuIein
to attract media and public attention — mpursaryBatu yBary 3acob6iB MacoBoi
iHpOopMarii Ta TpOMagCHKOCTI

III. Translate the following international words: standard, national, smog, plan,
focus, problem, aspect, system, media, local, radio.

IV. Translate words with the same root:
to construct — constructive — construction
to operate — operation — operational

to develop — developer — development

LEGISLATION ON URBAN AND TRANSPORT PLANNING

There are a great number of laws and standards in the developed countries on
urban planning and the development of transportation. Among them there are
national town and country planning programmes, regional master plans, local land-
use plans. Concerning the laws on the transport planning there are laws governing:

- public transport;
- parking policy;
partial restriction of traffic ( foggy weather, smog conditions) ;
- traffic plans;
- traffic accidents investigations

Besides some standards and laws regulate technical guide on road construction,
construction of buildings and also there are laws relating to the environment (noise,
water, air pollution, protection of green areas and historic sites) as effects on the
environment are considered seriously in areas where population density is high. In
some countries the law on the protection of agricultural land has the priority above
other laws.

Usually local plans of transport development focus mainly on such aspects as:

- concentrating urban development to restrict the need to travel,

- improving the use of alternative transport modes to the car;

- development of a good road network and a good public transport system;
- solving of the transportation of goods in towns;

- increasing the construction of bypasses;

- introducing urban tolls;

- establishing a parking policy;

- reducing the influence on the environment.
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Future urban development seems to be concentrated around the problems of a
restriction on the need to travel, an increase in the quality of the public transport and
the quality of parking facilities and also on the increased use of bicycles.

All these issues tend to attract great media and public attention. Thus, in most

countries land use planning is a matter for local government.

I. Choose English equivalents:

TEXT — BASED ASSIGNMENTS

1. BigHOCHTHCS a) concern b) concept c) content

2. 0OMEKEHHS a) reduction b) restriction C) reconstruction
3. JOCIiIKEHHS a) investigation b) institution c) instruction

4. OyiBHUIITBO a) consolidation b) consultation C) construction
5. 3a0pyqHEHHS a) waste b) pollution C) population

6. 3axHCT a) protection b) destruction ¢) revolution

7. o0xin a) bicycle b) bypass c) bypath

8. 3MEHINyBaTH a) recycle b) restart c) reduce

9. KiJIBKICTB a) quantity b) quality c) volume

10. momiTrka a) police b) policy C) position

II. Translate into Ukrainian:

developed countries, local plan, smog conditions, traffic accident, guide, relate,
noise, historic sites, agricultural land, need to travel, road network, transportation of
goods, quality, quantity, parking facilities, issue, tend, attention.

II1. Give

a) synonyms of the following words: standard, restriction, investigation,
construction, protection, influence, use.

b) antonyms of the following words: low, urban, bad, many, modern.

IV. Match words from columns A and B to make word combinations:
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A B

1. master a) network
2. parking b) tolls

3. foggy C) priority
4. traffic d) attention
5. air e) policy

6. agricultural f) accidents
7. urban g) plan

8. to attract h) pollution
9. road i) weather
10.to give j) land

V. Complete the following sentences:

1. There are a great many laws and standards on.... 2. Concerning the laws on the
transport planning there are.... 3. There are laws relating to.... 4. Usually local plans
of transport development focus on.... 5. Future urban development seems to be ....
6. All these issues tend to.... 7. In some countries the law on the protection of
agricultural land has.... 8. Among them there are .... 9. Besides some standards and
laws regulate .... 10. Thus in most countries land use planning is....

V1. Decide whether the statements are true or not. Correct the wrong ones:

1. There are no laws and standards in the developed countries on urban planning.

2. There are national town and country planning programmes, regional master plans,
local land-use plans.

3. Besides some laws regulate technical guide on road construction.

4. There are no laws relating to the environment.

5. Effects on the environment are considered seriously in areas where the population
density is low.

6. In some countries the law on the protection of agricultural land has the priority
above other laws.

7. Local plans of transport development focus on improving the use of alternative
transport modes to the car.

8. Local plans of transport development focus on increasing the influence on the
environment.

9. Future urban development seems to be concentrated around the problems of a
restriction on the need to travel.

10. All these issues do not tend to attract great media and public attention.

VII. Answer the following question:
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1. What laws are there in the developed countries?

2. What laws are there concerning the transport planning?

3. What do some laws and standards regulate?

4. Where are effects on the environment considered seriously?

5. Where has the law on the protection of agricultural land priority?

6. What aspects do local plans of transport development focus mainly on?
7. What do these issues tend to attract?

VIII. Translate into English:

1. ¥V po3BuHeHUX KpaiHax € 0araTo 3aKOHIB 3 MIiCBKOTO IIJIAaHYBaHHS il PO3BUTKY
nepeBe3eHb. 2. KpiM TOoro 3akoHH peryirorTh OyIIBHUITBO AOpIr i OyAWHKIB. 3.
Takok € 3aKOHM, LIO BiJHOCATBCS O 3aXUCTy HOBKULIL. 4. Y Jaeskux KpaiHax
nepeBary Mae 3aKOH 3 3aXHCTY CLIBCBKOIOCIIONAPChKHUX 3eMenb. 5. Bei 1i nuraHHs
MPUBEPTAIOTH YBary rpoMaJICEKOCTI i 3ac00iB MacoBoi iH(opMarii.

IX. Speak about:
- the laws on the transport planning
- local plans of transport development

X. Make up a plan of the text; prepare a short report on the text.

UNIT 4. TRANSPORATION PROBLEMS

4.1. General problems of transportation
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PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1.  deteriorate TOTipIITyBaTH
2. recreation BiJIIOYHHOK
3. circulation 00ir

4.  consumption CIIOXKHBaHHS
5. entire U]

6.  profitable nprOyTKOBUIA
7. equality PIBHICTB

8.  preservation 30epeKeHHS
9. allocation PO3MIIIIEHHS
10. reasonable MPUAHSATHIA

II. Word combinations to remember:

living conditions — ymoBu sxutTs

to solve conflict — BupimryBatu cynepe4HicTh

recreation area — 30Ha BiIIIOYHHKY

to maintain mobility — 36epiratu MoGinbHICTH

to limit noise— oomesxyBaTH 1IyMm

energy consumption — croxuBaHHsI eHEpPril

to be economically profitable — 6ytu ekoHOMiYHO TIPHOYTKOBUM
reasonable costs — nomipHi BuTpatH

to promote links — cripusiti 3B’s13kam

improvement of safety — momimmensst 6e3nexkn

preservation of historic city center —36epesxeHHs iCTOPUYHOTO [IEHTPY MicTa
to ensure development of the region — 3a6e3meuyBaTn pO3BHTOK pETiOHY
social equality of all residents — corianeHa piBHICTB YCiX MELIKAHIIIB
accessibility to goods and services — gocTynHiCTh TOBapiB Ta MOCIYT

to facilitate the economic activity — cipusiTn ekOHOMIUHIN TisTTBHOCTI

III. State the part of speech of the following words: agree, between, when,
environment, living, urban, with, entire, same, link, first, profitable.

IV. While reading and translating the text keep in mind meanings of the
following words:
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recreation— 1. BiHOBIEHHS CHII 2. BIAMIOYHNHOK 3. IepepBa
issue — 1. Buxix 2. pesysbTar 3. mpobiema 4. BUIYCK, HOMEP
effect — 1. BrmB 2. Hacminok 3. 3aificHeHHs 4. eekT

GENERAL PROBLEMS OF TRANSPORTATION

It is generally agreed that private cars play a major role in the deteriorating of
living conditions in the city. The conflicts between traffic needs and the needs of
residential, employment and recreation areas still have to be solved. There is a good
reason to continue to ensure the accessibility of the city and at the same time reduce
the negative effects on the living environment. In this respect all modes of transport
have to be considered. Two main problems can be formulated:

- to maintain mobility (traffic circulation and accessibility);
- to maintain living conditions and urban functions.

So a division of issues has been made between objects related to mobility and
those related to land use and urban functions. Issues related to the first problem are
the following:

Guarantee of basic accessibility.
Protection of environmental values ( limiting noise, pollution)
Improvement of the entire transport system, especially public transport.
Efficient movement of passengers and services.
Ensure that transport is economically profitable.
Promotion of links between center and outskirts and outskirts to outskirts.
Improvement of safety.
ues related to the second problem:
Conservation of urban functions.
Preservation of historic city centers.
Better commercial operation of the urban area.
Control of the massive shift of population from the center to the outskirts.
Ensure the urban, social, industrial and commercial development of the
region.
Social equality of all residents with regard to accessibility to goods and
services.

7. Facilitate the economic activity of the tourist industry.

The complete list of issues is of course much longer. Among them is an issue that
could not be included into the above groups: better coordination between
institutional bodies.
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TEXT — BASED ASSIGNMENTS

I. Translate into Ukrainian: private car, major role, traffic needs, accessibility,
negative effects, to maintain living conditions, pollution, reasonable cost, outskirts,
improvement, safety, social equality, resident, economic activity, to facilitate,
coordination.

II. Give English equivalents: moripirysati, HaliMaHHS, OPHBi, IOCTYIHICTS,
rapaHTyBaTH, PO3IMO/LI, 3aXUCT, CIIOKUBAHHS CHEPIil, pyX, BUTITHHIA, PO3MIIICHHS,
Oesrieka, MOJIMIICHHs, MEPEMILICHHS, PO3BHUTOK, DPIBHICTh, TOBapu Ta IOCIYTH,
€KOHOMIYHa JIISUTbHICTb.

II1. Match Ukrainian and English equivalents:

A B
1. agree a) LiHHICTH
2. conditions b) smenmyBaru
3. need C) 30epexKeHHs
4. to solve d) 06’exr
5. to reduce €) eheKTUBHUI
6. mode f) ymoBu
7. object ) BupilTyBaTH
8. value h) morpeba
9. efficient i) Bug
10.preservation j) 3romxyBarucs

IV. Find out synonyms of the given words among those in brackets:
1. recreation 2.to ensure 3. to allocate 4. profit 5. to define 6. to save 7. target
(a) aim b) determine c) rest d) economize €) benefit f) guarantee g) distribute )

V. Make the word combinations using the words in both columns:
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A B

1. major a) equality

2. living b) cost

3. recreation c) activity

4. negative d) links

5. to maintain e) role

6. energy f) area

7. reasonable g) mobility

8. to promote h) conditions
9. social i) effects
10.economic j) consumption

VI. Complete the following sentences:

1. It is generally agreed that.... 2.There is a good reason to continue to.... 3. In this
respect.... 4. A division of issues has been made between.... 5. Protection of
environmental values.... 6. Two main problems can be formulated.... 7. The
conflicts between.... 8. The complete list of issues is .... 9. Among them was.... 10.
Better coordination between. ...

VII. Answer the following questions:

1. What plays a major role in the deteriorating of living conditions? 2. What
conflicts have to be solved? 3. What two problems can be formulated? 4. What are
the issues related to the first problem? 5. What are the issues related to the second
problem? 6. How has a division of issues been made? 7. How can transport be
economically profitable?

VIII. Find an appropriate word for each blank space using the following
words:
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institutional accessibility amajor role the negative
bodies effects

traffic needs of issues land use

1. Private cars play... in the deteriorating of living conditions in the city.

2. The conflicts between... and the needs of residential, employment and recreation
areas have to be solved.

3. There is a good reason to continue to ensure... of the city.

4. There is a good reason to reduce... on the living environment.

5. A division of issues has been made between objects related to mobility and those
related to....

6. The complete list... is much longer.

7. Among them is better coordination between ....

IX. Speak about:

- how to maintain mobility
- how to maintain living conditions and urban functions

X. Make up a plan of the text; prepare a short report on the text.

4.2. Regional accents of transportation problems

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1. circumstance obcraBuHa

2. compromise KOMITpOMicC

3. explosion BUOYX

4. ramification po3raiyXeHHs

5. extension TOTITHPEHHSI

6. satisfy 3a10BOJIBHATH

7. competitiveness KOHKYPEHTO3/JIaTHICTh
8.  require noTpedyBaTu

9. ensure rapaHTyBaTu

10.  supply HOTUT
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I1. Word combinations to remember:

general problems — saransHi mpoGieMu

size of investments— posmip iHBecTHIIi#

to depend on the particular circumstances — 3anesxartu Bix crienudiTHIX 0OCTABHH
to find a compromise — 3HaXOJUTH KOMIIPOMIC

the main objective — rosoBHa 1B

to encourage public transport — 3aoxo4yBaTi rpOMaaChKUil TPAHCTIOPT
to maintain the competitiveness — miaTpuMyBaTi KOHKYpPEHTO3IATHICTh
demand and supply — mpomo3wuiis Ta mOMKUT

ramification of the road network — posranysxents mepexi qopir
countries in transition — kpaina 3 mepexiJJHOI EKOHOMIKOO

to satisfy the considerable increase — 3agoBONBHSITU 3HAYHOMY POCTY
to meet the needs — 3agoBoJBHATH TTOTPeOam

to favour public transport — miaTpumMyBaTH TPOMaCEKUIN TPAHCTIOPT

to require great investments — motpeOyBaTu BeIMKUX 1HBECTHIIII

III. Translate the following international words: problem, type, control, system,
compromise, structure, sector, transport, role.

IV. In each set of words find out the word that does not have a similar meaning
with others:

. Highway, road, role, motorway, traffic.

. Principal, main, basic, effective, major.

. Obtain, receive, acquire, attain, issue.

. Target, explosion, objective, aim, goal.

. Important, particular, significant, vital, grave.

. Provide, supply, ensure, service, secure.

. Fundamental, key, functional, cardinal, essential.

. Perform, preserve, maintain, keep, retain.

O~NO T~ WN P

REGIONAL ACCENTS OF TRANSPORTATION PROBLEMS
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The relative importance of the various general problems such as environment,
accessibility, quality of life, urbanization control, and size of investments depends
on the particular circumstances. Most problems indicate the need to find a
compromise between a city’s structure and its transport needs. The approach
depends on the type of the country. Again three different types of countries are
considered.

1. Developed countries with dense urban areas try to change the modal split
(depending on distance, motive, etc.) to encourage public transport and reduce
of private cars. The main objective of the planning policy is to control the
spread of urbanization (to maintain the competitiveness of public transport and
preserve non-urbanized areas). The main attention here is both on demand and
supply measures especially for the public transport sector.

2. Indeveloped countries with more recent urban traditions and of land available
(such as Australia and Canada), the explosion based on the ramification of the
road network has caused a considerable increase in traffic and has led to major
congestion problems. The possibilities of either constructing new road or of
increasing role of public transport are limited. The main attention here lies on
demand management measures and on practice to ensure construction of
necessary extensions to the road network.

3. Insome countries in transition the present transport system cannot satisfy the
considerable increase in mobility: the problem seems to be to provide better
public transport and meets the needs of growing numbers of users of private
cars while also preserving a modal split that greatly favours public transport.
The problem of improving the transport system which requires great
investments is also presented in developing countries. The main attention in
these countries is to ensure the competitiveness of the public transport sector.

TEXT — BASED ASSIGNMENTS
I. Translate into Ukrainian: relative importance, control of urbanization, indicate,
transport needs, approach, dense areas, motive, spread, measure, recent traditions,

congestion, extension, users of private cars, provide, transition, satisfy, network,
modal split, favour, ensure, competitiveness, preserve.

I1. Choose English equivalents:
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1. BigHOCHMIA a) relative b) reluctant c) reliable

2. posmip a) side b) size c) strike

3. 3HaAXOIWTH a) to found b) to find c) to fulfill

4. migxinx a) abroad b) approach c) appointer
5. 3MiHIOBaTH a) change b) challenge c) exchange
6. mommr a) demand b) need c) supply

7. BuOyX a) extension b) explosion C) exercise
8. oOmexyBaTH a) line b) lay c) limit

9. wipa a) measure b) pleasure ¢) amount
10. cripusiti a) ensure b) favour c) increase

III. Match words from columns A and B to make word combinations:

A B
1. relative a) investments
2. general b) increase
3. particular C) competitiveness
4. modal d) needs
5. road e) problems
6. transport f) split
7. considerable g) importance
8. to meet h) circumstances
9. great i) network
10.to ensure j) system

IV. Decide whether the statements are true or not. Correct the wrong ones:

1. The relative importance of the various general problems depends on the particular
circumstances.

2. Most problems indicate the need to find a compromise between a city’s structure
and its transport needs.

3. The approach does not depend on the type of the country.

4. Four different countries are considered.

5. Developed countries with dense urban areas try to change the modal split.

6. The main objective of the planning policy is to control the spread of urbanization.
7. In developed countries with more recent urban traditions the ramification of the
road network has not caused a considerable increase in traffic.

8. In some countries in transition the present transport system can satisfy the
considerable increase in mobility.
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V. Choose the most appropriate answer to complete the sentence:
1. The relative importance of the various general problems depends on the
particular:
a) demands;
b) circumstances;
C) needs.
2. Most problems indicate the need to find a:
a) compromise;
b) key;
C) answer.
3. The main objective of the planning policy is to control the spread of:
a) competitiveness;
b) transport;
¢) urbanization.
4. The problem of improving the transport system which requires great investments
is also presented in:
a) developing countries;
b) developed countries with dense urban areas;
c) developed countries with more recent urban traditions.

VI. Answer the following questions:

1. What are the general problems of transport development?

2. What compromise do most problems need?

3. Why must developed countries control the spread of urbanization?

4. What countries with more recent urban traditions do you know?

5. What are the countries where the present transport systems cannot satisfy the
great increase in mobility?

6. What does the problem of improving the transport system in developing countries
require?

7. What is the main attention in these countries to ensure?

VII. Translate into English:
1.BigHocHa BaXkIMBICTh PI3HUX NPOOJEM 3aJICKUTh B crierupiyHuX 00cTaBuH. 2.
MMigxig mo mpobinemu 3anexkuTh Bin Tuna Kpainu. 3. ['0JOBHA MeTa MONITHKA
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TUTAaHYBaHHS — 1€ KOHTPOJb PO3IOBCIOMKEHHS ypOaHizarii. 4. Y meskux kpaiHax 3
MEepexiqHOI0 EKOHOMIKOIO ICHYIOYa TpaHCIOPTHA CHCTEMa He 3a/J0BOJIBHSIE
3HAYHOMY POCTY MOOIJIBHOCTI.

VIII. Identify types of countries:

1.

2.

3.

In these countries the government should ensure the competitiveness of the
public transport modes.

These countries apply measures to change the modal split to promote
public transport.

In these countries the explosion of urbanization has led to great problems
with traffic jams.

The main objective in these countries is to provide the competitiveness of
the public transport sector.

The authorities in these countries should control demand and supply for the
transport sector.

The possibilities of constructing new roads or increasing the role of public
transport are restricted.

IX. Speak about:

- developed countries with dense urban areas;

- developed countries with more recent urban traditions;
- countries in transition.

X. Make up a plan of the text; prepare a short report on the text.

4.3. Transportation problems in Eastern European countries

PRE -TEXT EXERCISES

36



I. Mind the pronunciation of the following words:

1. arise 3’ IBJIATHCS

2. complexity CKJIAJIHICTh

3. exchange 0o6OMiH

4. transfer nepenaBaTh

5. experience JIOCBiJT

6.  summarize MiICYMOBYBaTH
7. specific 0COOTHBHIA

8. remark MO3HAYKa

9. force cuna

10. ring KiJbLe

I1. Word combinations to remember:

to happen under special conditions — BinOyBatucs B 0COOIHBHX yMOBax
to consider factors— po3risaati YMHHUKA

to make sense — maTu cMuCI

to take effect — maru epext

to be useful — 6yTu koprcHIM

international exchange — mixxaapoaHuit 0OMiH

to transfer experience — nepenasaru 10CBiz

urban space — micbkuii mpoctip

to come into force — Bcrymaru B cuity

reduction of traffic — ckopouenns pyxy

ring roads — kijpleBa gopora

in time and space — y 4aci ta npocTopi

to be implemented — 6yTu BukoHaHNM

in an integrated manner — iHTerpoBaHUM METOIOM

III. Translate the following international words: passenger, type, effect, system,
private, local, national, transport, balance.

IV. Translate words with the same root:
to construct — constructive — construction
to operate — operation — operational

to develop — developer — development

37



EASTERN EUROPEAN COUNTRIES: TRANSPORTAION PROBLEMS

As the transportation system develops, so new problems will arise. It is useful to
learn what has happened under special conditions in other countries and cities. In
deciding the course of action in any one location, all special factors must be
considered. It makes sense to look at the different national reports to learn what is
happening elsewhere.

The possibilities for future research into urban transportation depends upon the
stage of development and the complexity of the transportation system since most
measures take 10-15 years to take effect, it would be useful to increase the
international exchange between planners to transfer knowledge and experience in
transportation planning and management. In this respect the initiatives taken in the
Car Free Cities Club and the METMET network should be noticed.

It is worth summarizing some specific remarks by the countries in Eastern Europe:

New laws relating to local communities interests, urban documentations
have come into force. Planning will focus upon environment factors.

It is necessary to maintain the high modal share of public transport in the
modal split; to develop the use of the bicycle; to limit the traffic in centers
and near housing in urban areas.

Traffic limiting in some town centers has already been achieved and
resulted in the reduction of traffic, but at the same time traffic volumes
have increased on the ring roads. Traffic limiting should be handled as a
system measure, to balance the needs of all transport modes in time and
space.

The problems of new transport policies are to allow stable development of
the transport system enabling car traffic to be contained within the
environmental capacity of each zone.

It is apparent that transportation problems in urban areas can be eased using
technical, financial and organizational measures. The best results usually come
from a combination of measures, planned and implemented in an integrated
manner.

TEXT — BASED ASSIGNMENTS

I. Translate into Ukrainian: special conditions, location, report, possibility,
research work, knowledge, worth, specific remarks, local community, regulation,
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environment factors, modal share, traffic limiting, in time and space, policy, handle,
ring roads, housing, stable development, enable, capacity, zone.

I1. Choose English equivalents:

1. po3mimeHHs a) location b) arrangement C) organization
2. po3rmsigat a) present b) consider C) consume

3. JOCIiKeHHs a) research b) search C) examine

4. mnepenaBatu a) transit b) transport ¢) transfer

5. BiJHOIIEHHS a) trust b) respect c) attitude

6. mo3HauKa a) remark b) mark ¢) point

7. upaBwio a) regulation b) attention c) right

8. nmocsratu a) attain b) enable c) achieve

9. KimbIle a) ring b) king c) loop

10. 6e3cymMHiBHUI a) evident b) apparent c) essential

II1. Match words from columns A and B to make word combinations:

A B
1. to make a) split
2. to take b) traffic
3. international ¢) regulation
4. research d) measures
5. to transfer €) sense
6. specific f) work
7. to limit g) effect
8. financial h) experience
9. modal i) exchange
10.building j) remarks

IV. Decide whether the statements are true or not. Correct the wrong ones:

1. As the transportation system develops so new problems will arise.

2. It is useful to learn what has happened under special conditions in other countries.
3. It makes no sense to look at the different national reports to learn what is
happening elsewhere.

4. The possibilities for future research into urban transportation do not depend upon
the stage of development and the complexity of the transportation system.

5. Planning will focus upon environment factors.
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6. It is not necessary to develop the use of bicycle.
7. It is necessary to maintain the high modal share of public transport.
8. Traffic limiting in some town centers has not been achieved yet.
9. Traffic limiting should be handled as a system measure.
10. It is apparent that transportation problems can be eased using technical, financial
and organizational measures.
V. Choose the most appropriate answer to complete the sentence:
1. As the transportation system develops so new problems will:
a) arise;
b) increase;
C) emerge.
2. In deciding the course of action in any one location all special factors must be:
a) given;
b) considered;
c) presented.
3. It is necessary to develop the use of:
a) car;
b) bus;
c) bicycle.
4. Traffic limiting should be handled as a system measure to balance the needs of all
transport modes in:
a) air;
b) time and space;
C) water.

VI. Answer the following questions:

. When will new problems arise?

. What is useful to learn?

. What are the organizations which concern with the problems of transportation?
. What are the initiatives taken in these bodies?

. What will planning focus upon?

. What measures can ease the transportation problems?

. How can the best results achieved?

~No ok, WN -

VII. Translate into English:
1.Ilpn po3BUTKY TPaHCIIOPTHOI CHCTEMH 3’SBJIAIOTHCS HOBI mpobiemu. 2. byno 6
Jy’K€ KOPHUCHUM 3pOCTaHHS O0CATIB MDXHApOIHOIO CHIBPOOITHHMITBA 3 Iepeaadi
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3HaHb 1 TOCBiTYy Y chepi TpaHCTIOPTHOTO IIaHyBaHHA. 3. HeoOxinHO minTpumyBaTn
BEJIMKY YacTKy TPOMAaJICBKOTO TPAHCIOPTY y PO3IOALTL 32 BHIAMH TPAHCIOPTY. 4.
Heo0xinHO po3BUBaTH KOPHUCTYBAaHHS BEIOCHUIICJAMH.

VIII1. Translate the specific remarks relating to the countries of Eastern Europe
in written form.

IX. Speak about the specific remarks relating to the countries of Eastern
Europe.

X. Make up a plan of the text; prepare a short report on the text.

UNIT 5. URBAN MOBILITY

5.1. Urban mobility
PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1.  matter MUTAHHS

2. lifestyle CTHJIb YKUTTS

3. pattern MOJIEITb

4.  household JIOMAIITHE TOCIOAapPCTBO
5. ambiguous HEBM3HAYEHHIM

6.  scarcity HeJocTaya

7.  exacerbate 3ar0CTPIOBATH

8.  confuse 3MiIlyBaTH

9.  attribute O3HaKa

10. opportunity MOXITHBICTh

II. Word combinations to remember:
economic considerations — ekoHOMiuHi migcTaBU
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to compare patterns — mopiBHIOBaTH MOZEII

to measure mobility — BumiproBaTi MOGINBHICTE

to have similar characteristics — matu cxoxi BIacTHBOCTI

to be applicable — 6yt npunaTHIM

scarcity of available data — medirmT nocTymHIX XapakTepHCTHK

to collect and analyze information — 36upatu Ta ananizyBaTu iHGOpMAIIif0
to be inadequate — 6yTu HeagekBaTHUM

vice-versa — HaBmaKku

to be interchangeable — 6ytu B3aemo3amMiHHUM

to be interrelated — 6yTu B3aeM03B’s13aHEM

III. Translate words with the same root:
to inform — informer — information

to consider — considered — consideration
to differ — difficult - difficultly

IV. While reading and translating the text keep in mind meanings of the
following words:

matter - 1. nutanHs 2. pedoBuHa 3. MaTepiai

impact — 1. ymap 2. cyruuka 3. BIUHB

perspective — 1. mepcnektuBa 2. BUJ 3. IIaHU HA Maii0yTHE

URBAN MOBILITY

Urban mobility is an extremely complex matter. Indeed, many elements, such
as lifestyle, economic considerations, level of public transport service, land
development patterns, social, cultural and political factors influence on the mobility
to such extent that measuring mobility and comparing patterns between cities and
countries is a difficult task. However, research results show that households
throughout the world have similar mobility characteristics which have led the
members of the Committee to try and better understand mobility.

Measuring mobility in clear, unambiguous terms is a difficult task. Part of the
problem is how to define mobility and how to express it in quantitative terms
applicable to most countries. Another difficulty lies in the scarcity of available data
and in differing methods of collecting and analyzing information. What’s more,
when trying to compare mobility in developed and developing countries, these
problems are exacerbated. A definition of criteria acceptable here, may be totally
inadequate there.
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Most often in general terms, mobility is associated with distances traveled in a
given period of time. This definition, however, does not take into account either the
quality of the trip or the relativity of the distance factor. If one person needs to cover
one km to find a certain type of a hospital or a bakery and another twice as much,
how can this be compared in terms of “mobility”?

The terms mobility and accessibility are often confused. But they are as distinct in
the fashion

Mobility- an attribute of people
Accessibility — an attribute of places

That is people are mobile, buildings are accessible. There are arguments advanced
that because transportation and land use are so intertwined that these attributes are at
least interrelated if not interchangeable.

In either case, the concepts of mobility and accessibility are intertwined with
distances and travel times between people and land uses and are therefore ultimately
concerned with mode choice, costs, speeds and opportunities.

TEXT — BASED ASSIGNMENTS

I. Choose English equivalents:

1. migcraBa a) consideration b) determination  c) development
2. Mipa a) escape b) extent ¢) expand

3. npuBOAUTH a) to move b) to lay c) to lead

4. BIIUB a) impact b) intent c) trend

5. sicHuUit a) cool b) bright c) clear

6. HecTaya a) lack b) scarcity C) science

7. mopiBHIOBaTH &) compare b) consider ¢) contract
8. 3MimyBaru a) contain b) confuse C) mix

9. OXOILTIOBATH a) conclude b) consist c) cover

10. MOXITHBiCTE a) opportunity b) necessity C) probability

II. Translate into Ukrainian: to compare, matter, lifestyle, service, political
factors, pattern, a difficult task, research results, household, similar characteristics,
perspective, behavioural factor, to measure, unambiguous, express, scarcity,
available data, exacerbate, vice-versa, to associate, definition, to take into account,
quality of the trip, accessibility.
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I11. Find out synonyms:

A B
1. urban a) to embrace
2. to influence b) to determine
3. characteristic c) chance
4. clear d) term
5. scarcity e) municipal
6. accessible f) property
7. to define 0) to affect
8. period h) distinct
9. to cover i) available
10.opprtunity J) lack

IV. Match words from columns A and B to make word combinations:

A B
1. economic a) matter
2. difficult b) information
3. similar c) results
4. to measure d) countries
5. quantitative e) considerations
6. available f) mobility
7. to analyze Q) task
8. developing h) characteristics
9. complex i) data
10.research j) terms

V. Find an appropriate word for each blank space:

1. Research results show that households throughout the ... have similar ...
characteristics.

2. Measuring mobility in clear, ... terms is a .... task.

3. Another difficulty lies in the ... of available data and in differing methods of ...

and ... information.

4. Mobility is associated with ... traveled in a given ... of time.

5. There are arguments advanced that because ... and ... are so intertwined that
these ... are at least interrelated if not ....

V1. Decide whether the statements are true or not. Correct the wrong ones:
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1. Urban mobility is a simple matter.

2. Research results show that households have different characteristics.

3. Measuring mobility in clear terms is a difficult task.

4. There is a large quantity of available data and methods of collecting information.
5. A definition of criteria acceptable here may be totally inadequate.

6. Mobility is an attribute of places and accessibility is an attribute of population.

7. The concepts of mobility and accessibility are intertwined with distances and
travel times between people and opportunities.

VII. Answer the following questions:

1. What are the factors influencing mobility?

2. Why is it useful to understand mobility and all the factors influencing it?
3. When are the mobility problems exacerbated?

4. In what countries are there changes in mobility patterns?

5. How can we distinguish the terms “mobility” and “accessibility”?

6. What are these terms concerned with?

VIII. Translate into English:
1. BaraTo eneMeHTIB BIUIMBAIOTh HA MOOLIBHICTH HACTUIBKH, IO 1i BUMIipIOBAHHS
31a€ThCSl BAKKUM 3aBJaHHAM. 2. [HIIA mepemkoja Mojsrae B HecTadi JOCTYMHOI

inpopmarrii. 3. MoOUTBHICTS TOB’sI3aHAa 3 BIACTAHHIO, 1[0 MpOIIEcHA 33 MCBHHIA
BiZIpi30k yacy. 4. TepMiHKM MOOUIBHOCTI Ta JIOCTYITHOCTI 4acTO IUTyTaIOTh.

IX. Speak about:
- mobility;
- accessibility

X. Make up a plan of the text; prepare a short report on the text.

UNIT 6. PRIORITY OF PUBLIC TRANSPORT

6.1. Priority of public transport on urban roads

PRE -TEXT EXERCISES
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I. Mind the pronunciation of the following words:

1  separate OKpeMuit

2 purpose MeTa

3 fiscal GbinancoBHi

4 technique METOJI

5 carriageway IIPOXKAKA YACTUHA JOPOrU
6 segregate BiJJOKPEMITIOBATH

7 gate BOpOTa

8  share PO3MOALIATH

9  peripheral OKpYXHUI

10 detection BUSBJICHHS

II. Word combinations to remember:

to apply techniques — 3acrocoByBatu metoau

to manage traffic — ynpasisitu TpaHcopTom

fiscal measures — dinancoBi mipu

road pricing — mara 3a mpoizz

to have limited application — mati oGMexeHe 3acTOCYBaHHS

congested areas — niepenoBHEHUI paiioH

paint marking — mo3uauka hap6oro

to travel against the traffic flow — ixatu npotu notoky pyxy

arterial road — marictpainb

segregated bus ways — okpema gopora st aBTo0yCy

to have extensive tram systems — maTu oOUIMPHI TPaMBaiiHi CHCTEMHU

to make turn — pobutu noBopoT

to be prohibited — 6ytu 3a6oponeHUM

to prevent access to the vehicles — mnepemkomkatn  jgocTymy g0 3acobiB
nepecyBaHHsI

to use a peripheral ring road - 3actocoByBaTH OKpeMy KiJIbIIEBY JOPOTY

III. Translate the following international words:
control, effective, problem, policy, limit, component, physical, centre, system,
service, tradition, computer, motor, transport, peripheral.
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PRIORITY OF PUBLIC TRANSPORT ON URBAN ROADS

A wide range of policies and techniques are now being applied to control and
manage traffic in urban areas. A separate report deals with the parking policies for
this purpose. Fiscal measures such as road pricing have so far had only limited
application, but are being considered in more than one country. The development of
public transport and cycle facilities, town planning measures and traffic calming
have been applied widely. The most effective applications of these techniques have
been where several are applied in combination.

Developing public transport is an essential component of plans to improve the
transport systems of urban areas. In most urban areas, most public transport journeys
are made by bus or tram. To improve bus and tram services, it is essential to develop
measures to give them priority over other vehicles in congested areas.

Techniques for public transport priorities

A variety of techniques are used to give public transport vehicles priority on
urban streets:

- The traditional bus lane, with-flow or contra-flow, usually separated from the rest
or the carriageway by paint markings but sometimes by kerbing or other physical
barrier. Most large urban areas have many with-flow bus lanes. Contra-flow lanes
usually take the form of short lengths of kerbside lane allowing buses to travel
against the traffic flow.

- Segregated bus ways with exclusive right-of-way for buses are less common in
Europe and North America; examples exist in Amsterdam, Helsinki, and Ottawa. In
some developing countries, however, and particular in South America segregated
bus ways have been used extensively and successfully.

- Tram lanes are implemented in many cities which have extensive tram systems:
Helsinki has some 55 km of tram lanes in addition to 40 km of bus lanes on ordinary
urban streets in Bratislava, 75% of tram lines on reserved track. Warsaw has over
100 km.

Traffic engineering measures as:

- permitting trams and buses to make turns or other movements prohibited to
other traffic;

- “gates” allowing public transport vehicles access to certain
neighbourhoods or motorways while physically preventing access to other
vehicles;

- “cell” systems such as those in Guteborg, Bremen and elsewhere allowing
public transport to pass directly from one neighbourhood to another on a
direct route through the center, while requiring cars to use a peripheral ring
road;
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- Bus priority at traffic signals through various detection devices or centrally
controlled by computer systems.

TEXT — BASED ASSIGNMENTS

I. Give English equivalents: wmerox, 3acTocoByBaTH, VIIPaBISTH, METa,
(biHaHCOBHMil, BaXIUBHMH, EPENOBHEHUH, MPODKIKA YaCTUHA JOPOTH, MAricTpalb,
OKpeMHuil, OOIIMpHHIN, JO3BOJISATH, 3a0OpOHITH, JOCTYH, 3acid mepecyBaHHS,
KiJIbIIeBA, BUSBJICHHS.

II. Form nouns of the verbs by means of the following suffixes: - tion, - ion, -

ment, - ation: to decide, to develop, to apply, to consider, to improve, to operate, to
combine, to separate, to segregate, to transport.

II1. Match Ukrainian and English equivalents:

A B
1. range a) mpuaj
2. cycle b) BukonyBartu
3. to consider C) 3BUYANHUI
4. journey d) xomo
5. variety €) po3risiaT
6. lane ) muxon
7. substantial g) moi3aka
8. to implement h) pisHomaHiTHICTH
9. ordinary i) icrorHuit
10.device j) By3bKa mopora

IV. Match words from columns A and B to make word combinations:

A B
1. to control a) lane
2. to apply b) priority
3. fiscal c) track
4. road d) area
5. limited e) traffic
6. essential f) measures
7.to give g) policy
8. congested h) pricing
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9. bus i) component
10.reserved j) application

V. Complete the following sentences:

1. A wide range of policies and techniques are now being applied to....2. Fiscal
measures such as road pricing have.... 3. Developing public transport is.... 4. In
most urban areas most public transport journeys are.... 5. To improve bus and tram
services it is essential.... 6. A variety of techniques are used to.... 7. Most large
urban areas have.... 8. Segregated bus ways with exclusive right-of-way for buses
are .... 9. Tram lanes are .... 10. In some developing countries segregated bus ways
have ....

V1. Decide whether the statements are true or not. Correct the wrong ones:

1. The development of public transport services, town planning measures and traffic
calming have been applied widely.

2. Fiscal measures such as road pricing are applied widely.

3. Developing public transport is an essential component of plans to improve the
transport system of urban areas.

4. In most urban areas most public transport journeys are made by car.

5. To improve bus and tram services it is essential to develop measures to give them
priority.

6 Most large urban areas have many with-flow bus lanes.

7. Tram lanes are not implemented in many cities.

VII. Answer the following questions:

1. Why is it essential to develop measures for public transport priorities in congested
areas?

2. What is the purpose of the Committee on Urban areas activity?

3. How do you understand the terms “with-flow” and “contra-flow” bus lanes?

4. What is a segregated bus way?

5. Where do segregated bus ways exist?

6. What is the role of tram lines in urban areas today?

7. What are the main traffic engineering measures?

VIII. Translate into English:

1. Benuka KiJbKiCTh CIOCOOIB Ta METOJIIB 3aCTOCOBYETHCS 3apa3 AJsl YNpPaBIiHHS
TpaHcropToM. 2. ®iHAHCOBI MipH NOKHM MalOTh OOMEXKEHE 3acTOCYBaHHS, Xoya i
PO3MIISIAIOTECS. B JESIKMX KpaiHax. 3. PO3BHTOK IpoMajChbKOro TPaHCIOPTY — 1€
TOJIOBHA YMOBA JUIS HOJIIIIEHHS TPAHCHIOPTHOI cucteMu B 1iiomy. 4. Tpaguuiini
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aBTOOYCHI JiHII BiZOKPEMIIIOIOTBCS BiJl PEITH 3a JOIOMOToI0 (apOoBaHUX
HO3HAYOK.

IX. Write down the main idea of the text and key words.

X. Make up a plan of the text; prepare a short report on the text.

UNIT 7. OPERATIONAL AND ECONOMIC
ASPECTS

7.1. Operational and economic aspects

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1  duration TPUBAIICTh

2 emergency aBapidHUit

3  load BaHTAKHUTH
4 assessment OIliHKa

5  encourage 320X04YyBaTH
6  delay 3aTpUMKa

7 penalty wrpad

8  prevail nepeBaXkaTu
9  perceive PO3yMiTH

10 proposal TIPOTIO3HLIS

I1. Word combinations to remember:

emergency vehicles — aBapiitai aBToM06ii

to operate at peak periods — npaifoBaTH y TOJAWHH K

to encourage the use of public transport — 3aoxodyBaTH BHKOPHCTAaHHS
rPOMAJICBKOTO TPAHCIIOPTY

to estimate the savings — migpaxoByBaTH 3a011aKEHHS

capital cost — mepBicHi KamiTanbHi BUTpATH

enforcement of bus lanes — nocunenns aBro6ycHuX niHii
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to collect penalties — 36uparu mrrpad

prevailing culture — kynbTypa, 1110 TIEpeBaXKae

the loss of parking places — BrpaTa Micip mapxyBaHHS
to affect business — BruBaTH Ha GizHec

to carry more weight — MaTu GifbIll BArOMMIA BILIMB
social status — comianpHe cTaHOBUIIE

II1. Translate the following international words:
economic, type, problem, taxi, peak, period, individual, centre, system, service,
culture, park, limit, transport.

OPERATIONAL AND ECONOMIC ASPECTS

Duration: in most cities bus priority measures apply at all times or at least
throughout the working day. In some places (UK, Montreal, Melbourne) bus
lanes operate only during peak periods and allow access to buildings at other
times.

Vehicles: in most cities some other types of vehicles are allowed to use bus
lanes: e.g. emergency vehicles (usually), taxi (often), bicycles (sometimes).

Loading and unloading is a problem when operating bus lanes. When they
operate at peak periods only, loading can take place outside these hours. For
most cities, however, where bus lanes operate all day, loading must be carried
out on the pavement or in loading bays.

Assessment: in most cities the decision to introduce bus lanes is based upon a
politically adopted objective of encouraging the use of public transport.
Decisions about individual bus lanes may then be decided on operational
grounds such as delays to buses, and taking into account delays to other traffic.
In the UK a systematic attempt is usually made to estimate the savings to buses,
less any delays to other traffic and to set this against the capital cost.

Enforcement of bus lanes and other priority measures is essential. This is
usually the responsibility of the police with penalties going to general funds in
London a new system has been introduced. Private contractors collect penalties
which are then used to fund the enforcement effort. So far this applies only off
main roads.

Public reaction to proposals for bus priority measures varies according to the
prevailing culture. In some cities, where the public transport culture is strong,
such measures are readily accepted, except perhaps by those who are personally
affected. In countries, where the car culture is stronger, shopkeepers may
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object, fearing that the loss of parking places will affect their business. It is
often the case that the opinions of car drives carry more weight than those of
bus passengers and pedestrians because of the perceived link between car
ownership and social status.

TEXT — BASED ASSIGNMENTS

I. Give English equivalents: tpuBamicts, aBTOOyCHa JiHis, aBapiiiHuii, TpoTyap,
3a0X04yBaTH,  3aTPHMKa, HiIpaxoBYBaTH,  3aOUIa/DKCHHS,  IOCHJICHHS,
BIAMOBIJANIBHICTD, MITpad, MPOMO3ULlis, peakiis, 3alepedyBaTd, TyMKa, MiIIoXis,
COLliaJIbHE CTAHOBHIIIE.

II. Form nouns of the verbs by means of the following suffixes: - tion, - ion, -

ment, - ation: to decide, to develop, to operate, to assess, to move, to object, to
estimate, to produce, to enforce, to introduce.

II1. Match Ukrainian and English equivalents:

A B
1. bicycle a) TPOTIO3HILisI
2. loading b) pimenns
3. to introduce C) 3MIiHIOBATHCS
4. objective d) dbinancysatu
5. to estimate €) BEIIOCHIIE]
6. contractor f) BopoBamkyBaTH
7. to fund g) BaHTa)XXCHHS
8. decision h) mera
9. proposal i) mimpsmank
10.to vary J) mimpaxoByBaTH

IV. Match words from columns A and B to make word combinations:

A B
1. bus a) link
2. working b) penalties
3. peak c) status
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4. emergency d) culture

5. to estimate e) priority
6. capital f) period
7. to collect g) day

8. prevailing h) vehicle
9. perceived i) cost
10.social j) savings

V. Complete the following sentences:

1. In some places bus lanes operate only....2. In most cities some other types of
vehicles are allowed to.... 3. Loading and unloading is a problem when.... 4. For
most cities loading must be.... 5. Decisions about individual bus lanes may.... 6.
Private contractors collect penalties which.... 7. Public reaction to proposals for bus
priority measures varies.... 8. In some cities where the public transport culture is ....
9. Enforcement of bus lanes is .... 10. It is often the case that....

V1. Decide whether the statements are true or not. Correct the wrong ones:

1. In most cities bus priority measures apply at all times.

2. In most cities other types of vehicles are not allowed to use bus lanes.

3. In some places bus lanes operate only during peak periods.

4. Loading and unloading is not a problem when operating bus lanes.

5. For most cities where bus lanes operate all day, loading must be carried out on the
pavement.

6. Enforcement of bus lanes is essential.

7. Public reaction to proposals for bus priority measures is positive.

VII. Answer the following questions:

1. How do bus lanes operate in the United Kingdom?

2. What other types of vehicles are allowed to use bus lanes?
3. When must loading and unloading be carried?

4. What system of penalties has been introduced in London?
5. How does public reaction vary?

6. Whose opinions carry more weight?

7. Why is enforcement of bus lanes essential?

VIII. Translate into English:

1. B GaraTbox KpaiHax MipH 3 NEpEeBaKHHUX IIPaB aBTOOYCIB 3aCTOCOBYIOTHCS BEChH
yac. 2. Y geskux MicTax aBTOOYCHI JIiHIT NpauioloTh TUIBKK Yy ToAuHU mik. 3. B
Jlonnoni Oyma 3ampoBajkeHa cucrema mrpadiB. 4. 'pomanceka ayMKa Iozo
MIPOTIO3ULIH 3 EpeBaYKHUX NPaB aBTOOYCIB Jy)Ke pizHa.
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IX. Write down the main idea of the text and key words.

X. Make up a plan of the text; prepare a short report on the text.
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